
Midwest Industries, Inc. Ida Grove, IA  51445  800.859.3028 www.shorestation.com 0003319

 REV C 3/28/2019Page 1

ACCESSORY

HA1242
Front End Boat Stop

for 3,000, 4,000, 5,000, 6,000 & 10,000 lb. Boat Lift 
w/Steel Cradle

HA1242  Front End Boat Stop

For 3,000, 4,000, 5,000, 6,000, & 10,000 lb. Lifts

The HA1242 Front End Boat Stop is partially assembled when 
it leaves the factory.

Identify the end of the lift where the front of the boat will be 
positioned during use. Locate the two (2) arm support 
assemblies as shown in Diagram A, Detail A.

Hoists 3,000 - 6,000 lbs. capacity,
2” x 5” platform tube
Attach the arm support assemblies to the 2” x 5” lift plat-
form tube with 1/2” x 5-9/16” x 3” U-bolts, lock washers and 
hex nuts.

Hoist with 10,000 lbs. capacity, 
2” x 8” platform tube
Attach the arm support assemblies to the 2” x 8” lift plat-
form tube with 1/2” x 8-9/16” x 3” U-bolts, lock washers and 
hex nuts.



Midwest Industries, Inc. Ida Grove, IA  51445  800.859.3028 www.shorestation.com 0003319
REV C 3/28/2019  

Page 2

Diagram A

Slide the two (2) arm support assemblies on the platform 
tube until they are centered on the hoist crossways and are 
located approximately 72” apart. Hand tighten the hex nuts 
only at this point.

Locate the two (2) boat stop arm tubes and the front tube 
assembly  as shown in Diagram B and C. Place one of the 
boat stop arm tubes on one of the arm support assemblies 
just installed onto the platform. Secure in place with two (2) 
3/8” X 3- 7/16” x 3-1/4” round U-bolts as shown in Diagram B. 
Secure with 3/8” lock washers and hex nuts. Hand tighten only 
because they will have to loosened again during the next step. 

Repeat this process on the second boat stop arm tube po-
sitioning it on the arm support assembly in the approximate 
location as the first one was installed.
Rotate the boat stop arm tubes upward into the approximate 
position as shown in Diagram B. Locate the front tube as-
sembly. Slide one end of the assembly over the end of one 
of the boat stop arm tubes just installed. Then slide the other 
end on the second boat stop arm tube. Note that the arm sup-
port assemblies may have to be moved either farther apart 
or closer together to fit the front tube assembly. The second 
one may have to moved either forward or backward as well 
to match the first boat stop arm tube.



Midwest Industries, Inc. Ida Grove, IA  51445  800.859.3028 www.shorestation.com 0003319

 REV C 3/28/2019Page 3

Diagram B

Slide onto the tubes until the tube is inserted completely into 
the flair of the front tube assembly. Once the parts are mated 
as described, secure the front tube assembly to the boat stop 
arm tubes using the 1/4” x 3/4” self tapping screws provided. 
Place a screw so it is in the flared portion of the front tube 
assembly as shown in Diagram C, Detail B. Drill the self 
drilling screw through both the front tube assembly and the 
boat stop arm tube. Repeat this process on the other side 
of the assembly as shown. Then repeat this process on the 
other end of the front tube assembly. The assembly is now 
complete and is ready for final adjustments. 

The complete boat stop assembly should again be centered 
crossways on the hoist. Tighten the U-bolts attaching them 
to the platform.

ADJUSTMENTS

The front end boat stop can be positioned forward or back-
ward so that it will accommodate various length boats. 
Once the proper position is achieved, tighten the 3/8” x 3-
7/16” x 3-1/4” round U-bolts to secure in position. 

The boat stop is also adjustable for height. The boat stop pad 
should be located just above the boat bow eye. This is accom-
plished by removing the 7/16” x 5-1/4” hex bolt in one end of 
the chain in the arm support assembly, then re-positioning it 
in a different link until the desired height is achieved. Tighten 
all bolt not tightened previously. 

Adjustment is complete.



Midwest Industries, Inc. Ida Grove, IA  51445  800.859.3028 www.shorestation.com 0003319
REV C 3/28/2019

Page 4

Diagram C



Midwest Industries, Inc. Ida Grove, IA  51445  800.859.3028 www.shorestation.com 0003319

 REV C 3/28/2019Page 5

Diagram D



Midwest Industries, Inc. Ida Grove, IA  51445  800.859.3028 www.shorestation.com 0003319
REV C 3/28/2019

Page 6




